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	2.
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	3.
	Solve the simultaneous equation
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	5.
	By using a suitable substitution method, show that  
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	6.
	The function 
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	7.
	Prove that the sum of the first 
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	8.
	The point 
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	9.
	a) The polynomial  
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	a) Given the matrices 
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 a piece respectively.  On a certain days, the numbers of trousers of the three grades sold and the total profit of each of the shops are shown in the table below
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	11.
	Sketch on separate diagrams, the graph of  
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. Show clearly the turning points and all asymptotes of the curve. 
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. Calculate the area of the finite region bounded by line 
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and the arc of the curve between 
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. Give the answer correct to three significant figures.
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	12.
	a) Find the domain of the function  
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b) The function 
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        Given that 
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 is a continuous function, find the value of constant 
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The vertical asymptote is 
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